

$$Q \int \sqrt{4-x^2} \cdot dx = \int \sqrt{(2)^2 - (x)^2} \cdot dx$$

$$-\frac{9}{4} - 1 = -\frac{13}{4}$$

$$+\frac{13}{4} = \left(\frac{\sqrt{13}}{2}\right)^2$$

$$\int \sqrt{(2)^2 - x^2} = \frac{x}{2} \sqrt{(2)^2 - (x)^2} + \frac{4 \cdot 2 \sin^{-1} \frac{x}{2}}{2} + C$$

$$Q. \int \sqrt{x^2 + 4x + 6} \cdot dx = \int \sqrt{(x)^2 + 2 \times x \times 2 + (2)^2 - (2)^2 + 6} \cdot dx$$

$$= \int \sqrt{(x+2)^2 + (\sqrt{2})^2} \cdot dx = \frac{x+2}{2} \sqrt{x^2 + 4x + 6} + \frac{2}{2} \log |x+2 + \sqrt{x^2 + 4x + 6}| + C$$

$$Q. \int \sqrt{1+3x-x^2} \cdot dx = \int \sqrt{-(x^2 - 3x - 1)} \cdot dx = \int \sqrt{\left[(x)^2 - 2 \times x \times \frac{3}{2} + \left(\frac{3}{2}\right)^2 - \left(\frac{3}{2}\right)^2 - 1 \right]} \cdot dx$$

$$\Rightarrow \int \sqrt{\left(\frac{\sqrt{13}}{2}\right)^2 - \left(x - \frac{3}{2}\right)^2} \Rightarrow \frac{2x-3}{2 \cdot 2} \sqrt{1+3x-x^2} + \frac{13}{4 \cdot 2} \sin^{-1} \left(\frac{2x-3 \times 2}{2 \cdot \sqrt{13}} \right) + C$$

H.W ① $\int \sqrt{1-4x^2} \cdot dx$

$(2x)^2 \rightarrow t$

② $\int \sqrt{x^2+4x-5} \cdot dx$

③ $\int \sqrt{x^2+3x} \cdot dx$

$$a. \int \sqrt{1 + \frac{x^2}{9}} \cdot dx = \int \sqrt{\frac{9 + x^2}{9}} \cdot dx = \frac{1}{3} \int \sqrt{3^2 + (x)^2} \cdot dx$$

$$a. \int \sqrt{x^2 - 8x + 7} \cdot dx = \int \sqrt{(x)^2 - 2 \times x \times (4) + (4)^2 - (4)^2 + 7} \cdot dx$$

$$\int \sqrt{(x-4)^2 - (3)^2} \cdot dx = \frac{x-4}{2} \sqrt{x^2 - 8x + 7} - \frac{9}{2} \log |x-4 + \sqrt{x^2 - 8x + 7}| + c$$

Definite Integration



$$x \cdot dx$$



$$\frac{x^2}{2}$$

$$+ C$$



Constant

Definite Integration

~~$x \cdot dx$~~

~~2~~

Integration



part

area



area



20

$$Q. \int_{-1}^1 (n+1) \cdot dn = \int_{-1}^1 n \cdot dn + \int_{-1}^1 1 \cdot dn = \left[\frac{n^2}{2} \right]_{-1}^1 + \left[n \right]_{-1}^1$$

$$I = \left[\frac{1}{2} - \frac{1}{2} \right] + [1 - (-1)] = 2 \quad \checkmark$$

$$\frac{99}{35}$$

$$64$$

$$Q. \int_{-1}^2 (4n^3 - 5n^2 + 6n + 9) \cdot dn$$

$$\Rightarrow \int_{-1}^2 4n^3 \cdot dn - \int_{-1}^2 5n^2 \cdot dn + \int_{-1}^2 6n \cdot dn + \int_{-1}^2 9 \cdot dn$$

$$\Rightarrow 4 \left[\frac{n^4}{4} \right]_{-1}^2 - 5 \left[\frac{n^3}{3} \right]_{-1}^2 + 6 \left[\frac{n^2}{2} \right]_{-1}^2 + 9 \left[n \right]_{-1}^2$$

$$\Rightarrow \frac{4}{4} [16 - 1] - \frac{5}{3} [8 - 1] + \frac{6}{2} [4 - 1] + 9 [2 - 1]$$

$$\Rightarrow \underline{15} - \frac{5 \times 7}{3} + \underline{3 \times 3} + \underline{9} = 33 - \frac{35}{3} = \frac{64}{3} \quad \checkmark$$

$$\frac{1.5}{1} Q \int_2^3 \frac{1}{x} dx$$

$$Q \int_0^{\pi/4} \sin 2x dx$$

$$Q. \int_4^5 e^x dx$$

$$a. \int_0^{\pi/2} \cos 2x \cdot dx = \left[\frac{\sin 2x}{2} \right]_0^{\pi/2} = \frac{1}{2} [\sin \pi - \sin 0]$$

$$= \frac{1}{2} [0 - 0] = 0$$

$$a. \int_{\pi/6}^{\pi/4} \operatorname{cosec} x \cdot dx = \left[\log |\operatorname{cosec} x - \cot x| \right]_{\pi/6}^{\pi/4}$$

$$= \log |\operatorname{cosec} \frac{\pi}{4} - \cot \frac{\pi}{4}| - \log |\operatorname{cosec} \frac{\pi}{6} - \cot \frac{\pi}{6}|$$

$$= \log |\sqrt{2} - 1| - \log |2 - \sqrt{3}|$$

$$\Rightarrow \log \left| \frac{\sqrt{2} - 1}{2 - \sqrt{3}} \right| \rightarrow$$

$$\begin{aligned}
 \text{Q. } \int_0^1 \frac{dx}{\sqrt{1-x^2}} &= [\sin^{-1} x]_0^1 = [\sin^{-1}(1) - \sin^{-1}(0)] \\
 &= [\sin^{-1} \sin(\pi/2) - \sin^{-1} \sin(0)] = \pi/2 \text{ yr}
 \end{aligned}$$

$$\text{Q. } \int_2^3 \frac{dx}{(x^2-1)^2} \quad \left\{ \because \int \frac{1}{x^2-a^2} = \frac{1}{2a} \log \left| \frac{x-a}{x+a} \right| \right.$$

$$\Rightarrow \left[\frac{1}{2 \cdot 1} \log \left| \frac{x-1}{x+1} \right| \right]_2^3 = \frac{1}{2} \left[\log \left| \frac{x-1}{x+1} \right| \right]_2^3 = \frac{1}{2} \left[\log \left| \frac{2}{4} \right| - \log \left| \frac{1}{3} \right| \right]$$

$$\rightarrow \frac{1}{2} \left[\log \left| \frac{1/2}{1/3} \right| \right] = \frac{1}{2} \log \left| \frac{3}{2} \right| \text{ yr}$$

H.W. $\pi/2$

$$\textcircled{Q} \int_0^{\pi/2} \cos^2 n \cdot dn = \int_0^{\pi/2} \left[\frac{1 + \cos 2n}{2} \right] \cdot dn = \frac{1}{2} \left[\int_0^{\pi/2} 1 \cdot dn + \int_0^{\pi/2} \cos 2n \cdot dn \right]$$

$$\textcircled{Q} \int_0^1 \frac{2n+3}{5n^2+1} \cdot dn = \int_0^1 \frac{2n \cdot dn}{5n^2+1} + \int_0^1 \frac{3}{5n^2+1} \cdot dn$$

I_1 I_2

$$I_1 \Rightarrow \text{let } \rightarrow 5n^2+1 = t$$

$$\textcircled{2} \times \textcircled{5n} \textcircled{dn} = dt$$

$$I_1 = \frac{1}{5} [\log|6| - \log|1|] = \frac{1}{5} \log|6| = I_1$$

$$\Rightarrow I_1 = \int_0^1 \frac{dt/5}{t}$$

$$I_1 = \frac{1}{5} [\log|t|]_0^1$$

$$= \frac{1}{5} [\log|5n^2+1|]_0^1$$

$$I_2 = \frac{3}{5} \int_0^1 \frac{1}{n^2 + \frac{1}{5}} \cdot dn = \frac{3}{5} \int_0^1 \frac{1}{(n)^2 + \left(\frac{1}{\sqrt{5}}\right)^2} \cdot dn$$

$$I_2 = \frac{3}{5} \left[\frac{1}{\frac{1}{\sqrt{5}}} \times \tan^{-1} \left(\frac{n}{\frac{1}{\sqrt{5}}} \right) \right]_0^1 = \frac{3}{5} \times \sqrt{5} \cdot [\tan^{-1}(\sqrt{5}) - \tan^{-1}(0)]$$

$$I_2 = \frac{3}{\sqrt{5}} \tan^{-1}(\sqrt{5})$$

$$\frac{1}{n^2+a^2}$$

$$\frac{1}{5} \log|6| = I_1$$

h.w

Q

$$\int_2^3 \frac{x}{x^2+1} dx.$$

Q.

$$\int_0^1 x \cdot e^{x^2} \cdot dx$$

Q.

$$\int_0^{\pi/4} (2 \sec^2 x + x^3 - 2) \cdot dx$$